Answer key for Problem 2
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2
L= / V()2 + g/ (t)%dt (2 points)
0
f'(t) = (In2)2"sint + 2 cos t; g'(t) = (In2)2" cost — 2'sint (4 points)
()2 +4¢' ()2 = [(In2)222%¢ sin? t + 22*+1(In 2) sint cos t 4 2% cos? t]

+[(In2)22% cos® t — 22!+ (In 2) sin t cos t + 22 sin® t]
= (In2)%2%sin®t + 2% cos? t + (In 2)22%! cos? t + 22! sin? ¢

(4 points)
2 2
L= / \/(ln 2)222t(cos2 t+ sin2 t) + 22t(COS2 t+ sin2 t)dlf _ / 2t (ln 2)2 Tlat
0 0

(4 points)
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L=+/(n2)2+ 1/ ot dt — (In2)2+1- 3 (4 points)
0 n 0
3v/(In2)2+1
L= % (2 points)



